
Subject: Re: Math Question #1
Posted by CarrierII on Sun, 09 Nov 2008 15:32:30 GMT
View Forum Message <> Reply to Message

If Y = Sin(5X) / 2 - 2 * Cos(2X)

then as X -> 0, Y -> infinity. 

If X = 0 then

Sin(5X) = Sin(0) = 0.

2 - 2Cos(2*0) = 2 - 2Cos(0) = 2 - 2(1) = 0. - Can't divide by zero!

Thus if X is almost 0, we have

Sin(5X) / 2 - 2Cos(~0) which is 
Sin(5X) / 2 - 2*(~1) which is
Some number / Some other number < 1 and close to 0. This causes the whole expression to
increase in value because you're dividing by a fraction.

Page 1 of 1 ---- Generated from Command and Conquer: Renegade Official Forums

http://renegadeforums.com/index.php?t=usrinfo&id=20637
http://renegadeforums.com/index.php?t=rview&th=30871&goto=357817#msg_357817
http://renegadeforums.com/index.php?t=post&reply_to=357817
http://renegadeforums.com/index.php

